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#$ � % &'�$(" )* ��$#$ )+ ,�-. &/ (+ ,�0$123&4 561"3&4 7�8(� �$3)�9 (+ :�!4 �$3� %
y = f(x) ��3);6�<4 �+ &<'=4 >?'/ �+ �$123@6 �$3)�9 ��$(+ $ )ABC4 $DE+$ 561"3&4 $DF )�9 
�+ G��03)�9 @�H4 �I$1-J )+ KL/ 5,� 9M3&4 N/6 )+ $ )�9 #$ � % ID"$DF OP(" 9 )<;�'4

5,�-.3&4 &/ (+ �(83Q�+ RS�TU8 �+ $ �y = −αxk, (α, k > 0) ��3);6�<4

��
"� #
RV�+ �W�X'Y$ #$ (Z$ 561"3&4 7�8(� ?'/ (+ :�!4 �$3)�;9$ �NJ(/ �+ R >[�<" )+ �$3�(.3,�\ ��]�+ #$ �$3� %
>?'/ #$ $DE+$ I�!0  6 � % D"�+√Rg ��3�9�C4 �� (83  ̂�+ � % ��3)�;9$ �NJ(/ 9 ,�-. &"1�3,_* )�9 9 � %
 6 � % (8D<+ &!. `�!Ea �D"�+ �bDa � $D=4 V�$ #$ (83c*1. IM ��3)�;9$ �NJ(/ (Z$ 561"3&4 $DF �(.3,�\
d]1!<4 ). N/$ c�\�X4 ��3�6�/ `�EeC\ 9 6 $D\�E/$ RSf�C4 #$ &X� )ABC4 V�$ 561"3&4 $DF >?'/ #$ �$3)'=\
)ABC4 V�$ ��3&A. ��3&/ (+ ,�-X+ ,�0$123&4 �4 ). � �. 561"3&4 &/ (+ &8�4D=4 �c�\�X4 ���03: 6  6
� % G��03)�9 )* ��$(+ 561"3&4 7�8(� )�9 (+ :�!4 �$3� % 5,�(�Z3&4 (g\  6 �$123@6 �$3)�9 &-<� �N/$
�03)�9 #$ &h<+ ��$(+ D�6 ,�0$12 561"3&!\ $DF )�9 #$ �03i$D. ��$(+ �� �61"3&4 $DF ?'/ #$ $DE+$ I�!0  6
�4$ �61"3&!\ $DF ?'/ #$ $DE+$ I�!0 � % �D"�+ ,0  ̂�+  Dj3)* (0 ��69Dk4 ��3)�;9$ �NJ(/ l�0 ��$#$ )+
(Z$ 561" $DF )�9 #$ `$D<+ ). 6 $6 61F9 &\�X4 `�!Ea �c*1. ,0  Dj3)* (0 ��$3)�;9$ �NJ(/ (0 ��$#$ )+
). N/$ (83  ̂�+ �$3�bDa � $D=4 #$ IM ��3)�;9$ �NJ(/ �� �61" 7�8(� &!m/ RSX" )+ �$3)�9 ��3)Aj #$ �$3� %
��$#$ )+ ). D\ $6 61F9 ,0 G��03)�9 5D-.3&!\ W(8 $ ?'/ �Z(0 ).3IM �� �61"3&4 $DF ?'/ #$ $DE+$ I�!0

5�(n�6 �I�4# l�0 )\ 9 D\1"3&4 $DF $DE+$ I�!0 )\ �$3)�;9$ �NJ(/ l�0
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x

y

g

��3);6�<4 �+ �$3&!m/ IM >o'=4 >?'/ ). �$3)�9 $DE+$  6 D����+
RV�+ �W�X'Y$ #$ 5,�(�n+ (g\  6 $ �N/$ y = −ax2

�v0i ��3)�;9$ �NJ(/ �+ �$3� % 5,�-.3&4 &"1�3,_* )�9 9 � %
 Dj3)* v0 561"3&4 7�8(� pDe4 #$ )�9 (+ :�!4 �(v0 > 0)

(+ 6 $9 ���09(�\ q61" $DF &!m/ #$ $DE+$ I�!0  6 � % �8 D"�+
&!m/ 5N/$ N ?'/ ��3�61!J ��9(�\ 9 �mg IM �I#9 �� %
��9 � % ).3IM ��$(+ 9 N/$ �(�$6 #$ &_r+ pDe4 ��3&X�6�\  6
��.(4�3s\�F ��9(�\ D\$1E+ D��+ D-�M(+ ��9(�\ D-. N.(a &!m/

5D-. V�4t8 $ i#]
(g\  6 &!m/ V�$ (+ :�!4 pDe4  6 �$3�(�$6 SX" Ru+�'4 5,� 9M N/6 )+ $ R �(�$6 V�$ >[�<" D��+ $DE+$
���-k\$ >[�<" ,��1Z3&4 v 1Y V�$  6 5D-"�+ (+$(+ pDe4  6 &!m/ 9 �(�$6 >i96 RuE_4 ). � 1w )+ ,�(�Z3&4

5N/$ &X� &-k-4 96
#$ N/$ v �eJ N/$ y � 1k4 ��9 x�.(4 9 6 yZ3&4 pDe4 #$ ). �$3�(�$6 ��3);6�<4

x2 + (y +R)2 = R2. z1{
#$ N/$ v �eJ �(�$6 V�$ ��3);6�<4 pDe4 ��3&n��/3,0  6

y = −R+
√
R2 − x2 ≈ −R+R

(
1− x2

2R2

)

≈ − x2

2R
. z2{

D�M3&4 N/6 )+ pDe4  6 &!m/ ���-k\$ >[�<" &!m/ ��3);6�<4 �+ );6�<4 V�$ �I6$6  $(j (+$(+ #$
R =

1

2α
. z3{

#$ N/$ v �eJ D-.3&4 N.(a &!m/ ��9 pDe4 ��3&X�6�\  6 ). �$3� % ��$(+ V81�\ �I1\�j
mg −N =

mv20
R

= 2αmv20 , ⇒ N = m
(
g − 2αv20

) z4{

D"�+ v0 = vc (Z$ 561"3&4 $DF SX"3&!m/ ��3)�9 #$ $DE+$ I�!0  6 � % �D"�+ v0 > vc :=

√
g

2α
(Z$

c� IM �(�C4 �61+ �D" 7�8(� v0 ��3)�;9$ �NJ(/ �+ pDe4 #$ � % 9 61e\ �$3)�9 ). D�-. |(} q61"3&4 )*
D"�+ )E"$6 61F9 )�9 ). NC�\ ,m4 N;�a V�$  6 V�$ (+ �-+ 561+ y = −v20

2g
= −αx2 ��3);6�<4 �+ &!m/

5N/$ (UY � $93,0 ?'/ ��3�61!J ��9(�\ 9 N/$ )�9 (+ :�!4 )+�8(� �D"�e\ �� 9

��



�

�
��
 � �
 ���	 � 

�
� � 
���
�

� � ��
�����

�

�

�

�

�

�

y = f(x) '(�"� �� �	����� �	 ����� �	���� 
�
�	
� ���	�� *
5,�(�n+ (g\  6 $ �N/$ f(0) = 0 OP(" �+ y = f(x) Q<'=4 >?'/ ��3);6�<4 ). �$3)�9 D����+ ]�a
 6 �(2]�+ � % D�-. |(} 561"3&4 7�8(� y = f(x) >,2 (+ :�!4 �v0 ��3)�;9$ �NJ(/ �+ pDe4  6 �$3� %
(+ 6 $9 ��9(�\ �m-8 9 N = 0 ?'/ ��3�61!J ��9(�\ ID" $DF �I�X4  6 561"3&4 $DF )�9 #$ r0 RSH4 G��F

ID"$DF ��3)'=\  6 � % �7�E" ���03)U;~4 K� 5N/$ −mgj � %
ẍ
∣∣
r0

= 0, ÿ
∣∣
r0

= −g. z5{
�8 )�9 ��3);6�<4 )+ )F18 �+ 5N/$ I�4# )+ NeC\ �(�Z3uE_4 ��3&-<4 )+ N�!. c� ��]�+ )'=\ �N4�J ).

D-.3&4 N.(a )�9 ��9 � % ). &Ej9
ẏ = ẋf ′(x),

ÿ = ẍf ′(x) + ẋ2f ′′(x), z6{
��3)'=\  6 NJ(/ ���03)U;~4 �03V�$ #$ �6�UE/$ �+ 5N/$ x )+ NeC\ �(�Z3uE_4 ��3&-<4 )+ ,�(� �N4�J ).

6 9M N/6 )+ I$183&4 ,0 $ ID"$DF
ẋ
∣∣
x0

=

√
g

−f ′′(x0)
,

ẏ
∣∣
x0

= f ′(x0)

√
g

−f ′′(x0)
, z7{

D"�+ )E"$6 61F9 &\D"$DF ��3)'=\ ).3IM ��$(+ ). N/$ V�$ D�M3&4 N/6 )+ );6�<4 V�$ #$ ). �$3)��E\ V�;9$
�ID"$DF ��3)'=\  6 ). N/$ V�$ �(a V�$ ��3&-<4 5D"�+ NeH4 D��+ ]�+ O�+$9  6 @�X�6$ �(�# ��3)A!F
OP(" 6 $D\ I�X4$ N/$ f ′′(x) > 0 IM OP�=\ ��3)!0  6 ). �$3�$3)�9 K� 5D"�+ D��+ f ′′(x0) < 0

561"  $(j(+ ID"$DF
D063&4 �4 )+ f �v�=E_4 9 �f RV�+ �$3);6�<4 ��(\$ ��3&�EC���

m

2

(
ẋ2 + ẏ2

)
+mgf(x) =

m

2
v20 ,

⇒ ẋ2 =
v20 − 2gf(x)

1 + f ′2(x)
. z8{

)��E\ z8{ ��3)'+$  6 IM ��3� $yZ�F 9 N/$  $(j(+ �ID"$DF ��3)'=\  6 ). z7{ �@9$ ��3);6�<4 #$ �6�UE/$ �+
61"3&4

− g

f ′′(x0)
=

v20 − 2gf(x0)

1 + f ′2(x0)
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⇒ f ′′(x0)
(
v20 − 2gf(x0)

)
+ g

(
1 + f ′2(x0)

)
= 0. z9{

). 61"3&4 N}�� �$3)'=\ D" N}�� IM ��$(+ G+$1F (Z$ �x0 ��$(+ );6�<4 V�$ RSa 9 f(x) RVE"$6 �+ V�$(+�-+
� 9M6�� 561"3&!\ $DF )�9 #$ � % D"�+ )E"$D\ 7$1F );6�<4 V�$ (Z$ �4$ 56 $6 61F9 IM ��$(+ ID"$DF OP("

561"3&!\ $DF )�9 #$ �Z(0 ,CF D"�+ NeH4 � $93,0 )�9 �(<=8 (Z$ ). ,�-.3&4

y = −αxk, (α, k > 0) +,�-� .
��AEr4 �(�6�=4 ��$#$ )+ )�9 #$ � % �ID"$DF ,�0$12 &4 5N/$ y = −αxk, (α, k > 0) )�9 ��3);6�<4

D�M3&4  6 (�# �v 1Y )+ z9{ OP(" 5,�-. &/ (+ k

α2gk(k − 2)x2k−2
0 + αv20k(k − 1)xk−2

0 = g. z10{

A(x0) = α2gk(k− >,2 ��M ). ,�-�e+ N/$ &}�. �)\ �� 6 $6 7$1F z10{ ��3);6�<4 ��M ).3V�$ ��3&/ (+ ��$(+
5D-.3&4 o'j $ B(x0) = g �N+�� 9 ,�=EC4 O�2 �2)x2k−2

0 + αv20k(k − 1)xk−2
0

k > 2 /+.
 6 )�9 9 N��m\3G+ x = 0  6 f(x) >,2 ���-k\$ >[�<" N;�a V�$  6 5N/$ f ′′(0) = 0 �k > 2 ��$#$ )+

#$ �6�UE/$ �+ 5N/$ Nr8 >?'/ c� RSH4 pDe4 ��3&X�6�\
N −mg = mÿ, z11{

)�9 (+ :�!4 $ � % I$183&!\ �69Dk4 �NJ(/ l�0 ��$#$ )+ V�$(+�-+ 5N/$ NeH4 pDe4  6 N ). 61"3&4 )��E\
 6 5D\�43&4 V.�/ pDe4  6 � % �D"�+ v0 = 0 (Z$ 561" $DF )�9 #$ $DE+$ I�!0  6 ). 6(. 7�8(� �$3)\1Z )+
�N/$ v0 �= 0 ). &E;�a  6 5D-.3&4 N.(a )+ [9(" ,�-. 6���$ QEJ(/  6 &X*1. �@�E2$ ). &8 1Y
9 �A(x0) ���03);6�<4 �+ ,2 96 `�!Ea K� 5N/$ �61<Y &<+�8 A(x0) 9 �A(0) = 0 �k > 2 ��$#$ )+
� %  ̂�+  Dj3)* (0 �69Dk4 �NJ(/ l�0 ��$#$ )+ �k > 2 ��$(+ V�$(+�-+ 5D--.3&4 o'j $ (n�63,0 B(x0)

#$ `$D<+ ). 6 $6 61F9 &\�X4 `�!Ea c*1. D-* (0 &EJ(/ (0 ��$#$ )+ �4$ �61"3&!\ $DF ?'/ #$ $DE+$ I�!0
561" $DF )�9 
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k = 2 0+.
 6 � % Sej �N;�a RSH4 �D"�+ v0 = 0 (Z$ 5,�6(. &/ (+ ,0 $DE+$  6 ). N/$ &!m/ I�!0 �k = 2 �6 14
��ej ). N/$ &\�!0 ID" $DF OP(" 9 N/$ A(x0) = 2αv20 �k = 2 9 v0 �= 0 ��$(+ 5D\�43&4 V.�/ pDe4
(Z$ 561"3&4 $DF )�9 #$ $DE+$ I�!0 vc =

√
g

2α
#$ (83  ̂�+ ���03NJ(/ ��$#$ )+ 5,�61+ �6 9M N/6 )+

&E;�a RSH4 (�2$ �N;�a 5D\�43&4 )�9 �v 9��4  6 )_�!0 � % 9 N/$ N = 0 � $93,0 D"�+ vc )�;9$ �NJ(/
� % �D"�+ vc #$ (83c*1. )�;9$ �NJ(/ (Z$ 5N/$ &!m/ c� � % �N.(a �(�C4 9 NC�\ �$3)�9 ). N/$

561"3&!\ $DF ?'/ #$ ��Z3l�0

1 < k < 2 #+.
D-. N.(a )�9 ��9 ).3IM ��$(+ 5N/$ (UY pDe4  6 �-k\$ >[�<" 9 f ′′(0)→ −∞ �1 < k < 2 ��$#$ )+
�NJ(/ (0 ��$#$ )+ V�$ (+ �-+ 5NC�\ VX!4 ). 61" N��m\3G+ ��3&U-4 D��+ N )��E\  6 9 ÿ → −∞ pDe4  6
5N/$ 6$#M OP1=/ ��3&!m/ �(�# @9$ I�!0 #$ ,2 V�$ oj$9  6 561"3&4 $DF )�9 #$ � % $DE+$ I�!0 �(UY �(��

5D\�43&4 V.�/ pDe4  6 � % D"�+ v0 = 0 ).3&8 1Y  6

k = 1 )+.
D��+ $  �gE\$ V�$ 5D--.3&!\ o'j $ (n�63,0 ��Z3l�0 B(x0) = g 9 �A(x0) >,2 96 9 �A(x0) = −α2g

$ ?'/ �Z(0 61" 7�8(� ?'/ (+ :�!4 ). �$3� % 9 N/$  $63s�" �Nr8 >?'/ c� )�9 $(�# �,�E"$63&4
>?'/ #$ �Z(0 &;9 D-.3&4 N.(a )+ [9(" � % ). N/$ ?�$9 D"�+ v0 = 0 ). &8 1Y  6 5D-.3&!\ W(8

561"3&!\ $DF  $63s�"

k < 1 *+.
 �gE\$ V�$ 5D--.3&!\ o'j $ (n�63,0 ��Z3l�0 B(x0) = g 9 �A(x0) >,2 96 9 N/$ &U-4 � $93,0 �A(x0)

61" 7�8(� ?'/ (+ :�!4 ). �$3� % z7{ Ru+�'4 9 f ′′(x0) > 0 &!2 V�-* ��$(+ $(�# �,�E"$63&4 D��+ $ 
&;9 D-.3&4 N.(a )+ [9(" � % ). N/$ ?�$9 D"�+ v0 = 0 ). &8 1Y  6 5D-.3&!\ W(8 $ ?'/ �Z(0

561"3&!\ $DF )�9 #$ �Z(0
V�$ �6 14  6 ). �D�U4 ���06�m\3Q�� ��$(+ &mA;$3?E} RV�Ca(�4$ 9 &4(2 �D!k4 #$ ,\$63&4 i#] +$1	2�
�

5,-. (X_8 D-E"$6 );�=4
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